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Equation Review Quiz
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Zeinab is going to a car'mval l pose it costs $10 for her to enter
the carnival. 0. She has $25 to spend at the
carnival. What is the gr'ea‘resf number of rides that she can go on?
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Big Sean is taking an online algebra class. He submitted this work to
his professor. Is he correct? If not, fell him how he can correct his
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Justin Bieber called me yesterday to help him with some math. He
solved the equation x - (4-x) = 0 like this. What should I tell him so

he ge'r/sthe"cgl‘"recf solution?
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A family buys airline tickets onlme ach ticket cosfs 205 00. The

family buys travel insurance }u’r%e deh ticket%he costs $25
ticket. The web site charges a fee $20 for the entire purchase The
family is charged a total of $117O 00. How many tickets did the

family buy? = \\70
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Mrs. Wrona needs to rent a moving truck because her neighbors,
Beyoncé, Jay Z and baby Blue are too loud, so % is moying far
away. Suppose Company A charges a rate of per day and

Company B charges a plus $30 per day. For what number
of days is the €ost the same3'® + So ¢ XK
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What mistakes, if any, did Mr. Baughman make when solving this 6)\0\«” ‘\QV'C GJJ‘&[
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